Phy 4A 9/28

Wednesday, September 28, 2016 9:19 AM

Goals for the Lecture:
1) Given one of the following three graphs: x vst,vvst,andavst,
be able to draw the other two

2) Be able to solve 1-D kinematics problems (constant acceleration)
using the equations and a graphical approach
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A car starting from rest speeds up to 30 m/s with a constant

acceleration over a time of 10 seconds. Then, it travels at 30
m/s for 10 seconds, and finally brakes to a stop in 20 seconds
with a constant deceleration. Which of the following graphs
represents its graph of speed versus time?
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Which One represents acceleration vs time? (\77

How far does it travel in the 40 second time period?
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None of the above.
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Which of the graphs of velocity versus time a
could correspond te the graph of acceleration —
versus time shown on the right?
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Which of the graphs of distance versus time

corresponds to the graph of acceleration E_
versus time shown on the right?

Which of the graphs of acceleration versus S
time corresponds to the graph of distance
versus time shown on the right?

time
a A a B a C
e ime ;time
1 A L
E

L=y ] Vg

New Section 1 Page 4




time time I'»
4
f——
(/“\uc\er\"[rw\ c@ v 3 = 4,50 m
Tree A\ ¢ 3 b j 2
/\gb_} j\NJ\ \/‘): ) !éh
J/V;: \/‘3
'F(AB\ “ \{G

Y20~
\) Dafene o0 qta awd  Positine Yt rection

2) El iw (vt -

y—maita/\
yr | ~H
ol o
Ve | =V,
v, *
% -9 B of -9
AL

~

" hp .
v Vo rtes r>j

ss\\h& ‘(’W \{F

V’ﬁ s(f\bw\‘&\ \/_)& (\XQ‘SC\ACV&

Yo = Uz *‘V%*LO"&
WSe & \/O = 206 o O = SGo +(7>o\>k4' (‘17)'}‘
B
C—% 41 .

New Section 1 Page 5



Now -

Wie - V. = 2o

. %
\‘l’\E(ﬁj
\[ /\
t 7 +
—’BO
ot
N
i —> K
'-"l.‘ﬁ
“\’\/\("o‘ﬁ7 \0\'\\ U?

TJ*(: AVo 3’\«\«3
- .
(L .
Yzo 7

kﬁ erv\AJ'z N

ho |+ 7
»)

I

VAN xbo V\’,\S

New Section 1 Page 6

So + (o) K4LEr)

L

Ve

S L
L UC s

=4t 2
4z, -



New Section 1 Page 7



